JMRU fit B E AR R (B K )
T

1.X8 : FFERMME
2. B EREr - BB
ZIEmENEEDN
3.EMRFEIIALER

[ERE - ESE - MI4HE -
ZEFMAEWIREXBEANNINEHEE -
MEEEH -

ZHERR(ERE  TEEASAETE -

+§‘}nﬂE'*

C

~i

< ’? 7% [ IMRU BB ERRAL (B MER)| 016~032 P315
‘A

SEL 1

SRELEL{E (mm) 10 15~20+25+~32+40
EE R S ERE
{FEAiReE =R
EREAEEE (kgf/cm?®) 1.5~4.5 1.5~6
=XEAEA (kgf/cm?®) 5 6.5
EABEEEE (C) 0~60
EREESRE (mm/sec) 50~500
g HHRELAFR
BEEEOK ®10~d15:M5x0.8 $20~D32:PT 1/8 $40:PT 1/4
BEEE B R ERE A
=A
HamH &
BB : kgf
AL o 1% SEER ZRET (kgf/cm?)
(mm) (mm) BiF (cm? )El 1 2 3 4 5 6
210 210 # 0.78 — 1.5 2.3 3.1 3.9 4.7
@15 @12 HE 1.76 — 3 5 7 8 10
220 @16 HE 3.14 — 6 9 12 15 18
@25 @16 HE 4.90 — 9 14 19 24 29
@32 @20 # 8.04 — 16 24 32 40 48
@240 @25 # 12.5 — 25 38 50 63 15

D 5 U EEREREIR ; RIRRAA > BE RERENRMMBEREGHME o (4973 70% ~80%)

T I TR

B EErE T A Ih e
o K FETHER

315



JFC

JMRU BN EE R (B EEhX)

W ARFEE R 15

B : N. [ kegf]

& (mm) | KFEFEEH,W
210 27 [2.7]
@15 65 [6.5]
220 112[11.2]
@25 182[18.2]
232 290[29.0 ]
@40 480[ 48.0 ]

W E E X

o FEEIEM N

KEH (N

=

W & HEITIE MR E

500
300
200
100 47:,’,’09
G
B 40 7 %
30 R
20 \le"’ )\
10
0 500 1000

RELITFE (mm)

o THIEIEMRX

—

—~

RER HH wE =] e
01 N maE s i
02 BRER ki mfmA 8
03 E#h THME JEEEHLSH, Wi
04 Hi7 s HAEE EE
05 AIBLE AT LS BiEHE
06 ‘IR = TEEEER T8
07 O B [ipe:li= PEE-SEES [l
08 TEE S 5t ] R e
09 EEhR S ] 0 BlIR Rl
10 LilEEEES (g1 il iz
11 EAERE E2k i i FEIR HIBAE
12 ] 5] {75 [

A
Pl
————————{_

AE:




< 1

JFC JMRU B &

JMRU B EX EZREL(B BHEh&K)

SREL(EHEK)

B{I:mm
O 43 #f 7= 39 P P BT EEEERENTREHARTZESR
Pk miEEITIE o0 15300
210 500
250 ~ 300
50~ 100 ~ 150 ~ 200 ~
@15 | 250~ 300 » 350 ~ 400 ~ 700
450 ~ 500
220 1000
@25 | 50100~ 150 ~ 200 * 1200
250 ~ 300 ~ 350 ~ 400 ~
450 ~ 500 ~ 600 ~ 700 ~
@32 | 800 1200
240 1200
A SHEEEES
= =
Pk rmET R T
JMRU — 16 —50ST Txn — A2
RELRT KRS 1772 B RS TRERE
ﬁi_é 10:10 mm = 15k REEERE
1% 15:15 mm 2 i Ll Q\ %é]?%
) &l Al IR E
%ﬂ? 20:20 mm 5% A2 I AR 32
25:25 mm R A3 ERNHEEES
2 1= ZEH: RHBEIEEBRE
= 32:32 mm e B 2 R B
* A #ig: JFS-04
Al 40:40 mm 17 T: 2R IR, BEIGR2K fm | BEEREE
iz P: PNP31E 5 A2 # igR 2k
N: NPN3ff i 12 48 Rk 210
n: W& @15
@20
A=mm wrEes THEESET 25 2
@32 59
240 59

317



JFC

JMRU Fé {8 =X, 2=

SN EB R ST [E

=R
¥ K

< 1

ANSREE: Y

C F M T
T HH AB 5 GS Al 2-Rc
- 7 BB /H&m7l
= i i i g;/—
7@;7, 94%%@
- 4ig}x_. —1Ng
- O
O0) L @ DG
e = M | [ DD/EE
L_~S P+ST FF
ElESEEEFL
4-Y
B GG
5 S| —
e e I @ 4 ST e | e
S| =
7 WI| X V, I S
JE-ED"‘
ag. |A|/B|C|/D/E F|G H |J K/ L M Pl Q
10 20565 |45 | 25 | 10 |125|@10 | @112 |24 | 38 |58 | 1 | 60 | M4x0.7x6dp
15 |225/75 |60 |30 | 15 [125 @12 | @166 |30 |50 |72 | 1 | 76 | M5x0.8x10dp
20 1255|8570 |40 | 15 |16.5 016 | @214 |38 | 62 |87 | 1 | 89| M6x1.0x10dp
25 |255(85 |70 | 40 | 15 165|016 @264 42 | 70 | 97 | 1 | 89 | M6x1.0X10dp
32 1285/95 | 85 | 40 |225/185|@20 |@33.6|50 86 (119 | 1 |106| MB8x1.25x12dp
40 305|1065| 95 | 65 | 15 |20.5/0@25 | @41.6 | 64 | 105 | 142 1 120 M8x1.25x12dp
R
P R S| T U| V| W|X Y Z AA BB CC
10 04.258F 28x4.5dp (26,533 | 10 | 6 | 12 | 3.5 |M5x0.8x9.5dp| 40 | 18 | 12 | 60
15 05.2i8FL ©9.5x5.5dp| 29 |39 | 12 | 6 | 13 |35 M6x.0x8dp | 51 | 21 125| 75
20 | @5.2i&F,@9.5x56.5dp| 33 |45 | 14| 7 | 14 |45 M6x1.0x8dp |62 24| 17 | 90
25 | @6.43@FLolIx65dp | 41 |53 | 15| 7 | 14 | 4.5 |M8x1.25x10dp | 70 | 28 | 20 | 100
32 |285@FLo14x8dp |46 |64 |18 | 8 | 16 | 5 |MIOX1.5x15dp | 86 | 34 | 24 | 122
40 | @8.53@FL@14x4.5dp |57 |74 | 20| 10 | 20 | 5 |MIOx1.5x15dp |105 | 39 | 24 | 145
505R
o DD | EE FF GG HH| RC
A
10 [145] 12 | M8X1.OXTHR |65 | 1 |M5
15 [16.5/12.5| M8X1.OXTHR [6.5| 1 |M5x0.8
20 16 | 17 | MIOX1.5XTHR | 85| 1 |Rcl/8”
25 21 | 20 | MI4x1.5xTHR | 8.5 Rcl/8”
32 22 | 24 | M20x1.6xTHR | 95| 2 |Rcl/8”
40 | 33|24 | M20x1.5xTHR [10.5| 2 |Rcl/4”

318




